Number of bounding boxes

4 . .
%10 Training
ol 19861 ' ' ' ] 6000
==
5000
15} .
4000
=
Sl | 3000t
8929
I ==
2000 r
5166
05 L | m— a
2953 1000
—
0 - - - 0
N K >
<§$§ Qfﬁb <§§9
s

Validation

646

2442

1560

N\
N

&

60(\

S

Testing
6000 - - -
5477
5000
4000
3000
2000
1000
297 324
0 1 L !
\é\‘b 006 ‘bo(b
© & S
O &)
¥ S

(UWI) Mod damage
(UWI) Maj damage

(UWI) No damage - min damage [ |(GOV) No damage- min damage [____](SRC) No damage- min damage
[ 1(GOV) Mod damage
[ (GOV) Maj damage

I (SRC) Mod damage
I (SRC) Maj damage




